
MAN MACHINE INTERFACE, INC.
     24419 Hilliard Blvd.
     Westlake, Ohio 44145
      Phone/Fax: (440) 871-6496

GEN-5 CAMARO AERO-PLATE 
FRONT LICENSE PLATE MOUNTING BRACKET (PATENT US 7401427B)

INSTALLATION AND CLEANING INSTRUCTIONS. MADE IN USA.

CAREFULLY READ THIS ENTIRE DOCUMENT BEFORE PROCEEDING

I. Required Tools, Materials and Kit Contents.

1. 10mm hex socket – ¼” drive and ¼” ratchet wrench with short extension.
2. Phillips screw driver.
3. Blue thread lock.
4. Kit Contents: mounting plate, 2 arms, 2 stops for arms, 4 #6-32 stop to arm mounting screws,
    2 #10-24 mounting plate to arm screws and internal lock washes, 6 Velcro tabs.

II. Installation Instructions.

1. You do not need to raise the vehicle. SET EMERGENCY BRAKE to stop vehicle from moving.
2. Position the two arms so that the front tips of each arm face one another – see FIGURE-2. Then 
attach one stop to each arm using the #6 screws and a phillips screw driver. Important - put a small 
drop of blue thread lock on the threads of each screw.
3. From under the bottom portion of the front fascia remove the two screws at the rear of the fascia 
using a #10mm socket and ¼” ratchet wrench – see FIGURE-1.
4. Join two of the loop side (soft side) Velcro tabs together adhesive side to adhesive side. Then do 
the same with the other two loop side Velcro tabs. Press together each of the joined pieces to each of 
the remaining hook side Velcro tabs. On the top side of each arm measure 2” back from the 45° bend 
and adhere the two Velcro tab assemblies to the arms.
5. Attach each arm, Velcro side up, to the underside of the bottom front fascia using the 10mm screws
removed in step 3, but do not fully tighten the screws – see FIGURE-2.
6. Attach the mounting plate to the arms using the #10-24 screws, lock washers and phillips screw 
driver – see FIGURE-2.
7. Make minor alignment adjustments and tighten down all screws.
8. Attach your license plate or license plate and license plate frame combination to the mounting plate
using four ¼”-20 stainless, chrome or color capped screws available at your local auto parts store.
9. Never allow the bracket to contact any object, such as a curb, as doing so will result in 
damage to the bracket and components of the front of your vehicle.
10. The Camaro Aero-Plate should only be used for normal street applications under normal 
driving conditions and should not be used in high-speed/racing applications.
11. Always wear safety glasses and take care and use caution in assembly.

1



III. Cleaning Instructions.

The Camaro Aero-Plate is one of the finest and most durable front license plate mounting brackets 
available. Treat it as you would your vehicle’s finish and it will keep its appearance for years.

1. Only clean your Camaro Aero-Plate front license plate mounting bracket with standard car wash 
detergent, otherwise the finish will be damaged. Do not use any harsh cleaners, such as, 
Fantastic, Simple Green or Orange Blast.

2. If you have purchased a polished Camaro Aero-Plate, then it must be cleaned and waxed 
frequently otherwise corrosion and damage to its finish will result.

Notification/Disclaimer: The Camaro Aero-Plate, front license plate mounting bracket, has a limited Ninety (90) day, 
from date of purchase, Original Manufacturer warranty, to the Original Purchaser only, against defects in materials 
and workmanship only and has no other warranties what so ever either expressed or implied. Purchaser/User assumes 
all risk, responsibility and liability for any and all damages resulting from or arising out of the installation and/or use 
of the Camaro Aero-Plate front license plate mounting bracket. Camaro Aero-Plate is the Proprietary Property of Man
Machine Interface, Inc., Duplication in whole or in part is Strictly Prohibited.

Copyright Sept. 2012, an unpublished work. ALL RIGHTS RESERVED.  

2


	GEN-5 CAMARO AERO-PLATE
	FRONT LICENSE PLATE MOUNTING BRACKET (PATENT US 7401427B)
	INSTALLATION AND CLEANING INSTRUCTIONS. MADE IN USA.
	CAREFULLY READ THIS ENTIRE DOCUMENT BEFORE PROCEEDING



